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10[ 15 7769 |7k =4 (1) 3.94 | 3.46 | - 3.94
#4h9 #t1 Bl +4.6 | +3.2 +4.6
M) 20] 1942[=% Y 379 | 3.93 | 3.78 3.93
Y9 74 IR R +2.9 | +3.1 | +2.5 +3.1
12] 25| 7949 =#f W) 3.78 | 3.80 | 3.85 3.85
45 41 AR E T 2.7 | +4.5 | +3.7 3.1
13] 9] 77683t E kAT (1) 3.72 | X 3.55 3.72
141" 3 %Eh e +3.5 2.5 3.5
4] 14] 7944k F#E (D 3.71 | 3.64 | 3.60 3.71
Y vt AR E T 3.4 | 41 | +1.9 3.4
15 13| 7620 M #HE (2) 3.35 | 3.45 | 3.67 3.67
%8 79h FE] 23 3 6 o 2.0 | 0.9 | +2.0 2.0
16 5 7746/4F &F () 3.18 | 3.03 | 3.63 3.63
540 p EA T 3.6 | 2.2 | +3.0 3.0
7] 16| 7657 &K BH Q) 3.54 | 3.60 | 3.39 3.60
W% 19 fiE] 25 B 6 o 4.7 | +3.3 | +0.9 3.3
18] 10| 7564 7k &¥% (1) 3.54 | X 3.30 3.54
N AR FE] 23 7 6 o +2.4 +4.1 2.4
19] 6| 7936A1E D 352 | 3.43 | 3.50 3.52
17 3 ELRH 2.6 | 2.6 | +3.6 2.6
20) 11| 7662[@ # (1) 315 | 3.49 | 3.22 3.49
1t ¥3° % fiE] 23 B 6 o 2.4 | 1.7 | +2.4 1.7
21 17| 7840|/h & BH (D) 3.32 | 3.44 | 3.34 3.44
T Tt Rigth 4.0 | +2.8 | +1.2 2.8
22/ 8| 7869 |mE HEE Q) 309 | 3.29 | 3.43 3.43
7 YT 1% Rigeh .3 | 1.4 | +1.9 1.9
23] 12| 75635t & (1) 3.27 | 3.38 | 3.35 3.38
MY 19 FE] 25 7 6 o 2.9 | +1.8 | +3.0 1.8
24 1] T640|E3H E=H M 331 | 3.32 | X 3.32
34 THN I 4 B 6 3.1 | +0.6 +0.6
25| 4] 7638|FA &3 (1) X 2.89 | 2.86 2.89
1% /) fiE] 25 B 6 o .7 | +1.9 1.1
26 2| T7619)#F EBK(2) X 2.89 | X 2.89
yEPIEVE fiE] 23 3 6 o 1.4 +1.4
24 TT67[#% EE () x5
I3 b #EA T




BELT

EX] [f0E78 19:00 |
FAALRR (2. 721kg)
KEH (GR) 14.14
R
A% 3 7l I T - FRA - [ 2= | 3 [ 4 [ 5 | 6 | B8 | ®=
1) 5 71857 iﬁ 5;1(2) . 9.40 | 8.91 | 9.16 | 9.13 | 8.04 | 8.17 | 9.40
2 7 8M ;’};‘ET?QE’%(” . 9.07 | 8.81 | 8.76 | 8.98 | 8.90 | 8.66 | 9.07
3 9 7853 ffvﬁﬁ @) s 8.22 842|830 817810814 842
4 8 7634 I’@FJ? @ - 6.72 | 7.25 | 7.29 | 7.56 | 6.91 | 7.51 | 7.56
5 4] 7653 ﬁiﬁﬁ @) - 6.74 | 7.45 | 6.81 | 6.91 | X | 7.33| 7.45
6| 1] 7852 ﬁiﬂ f‘%lﬁf(” - 716 | 6.76 | - | 6.98| 6.40 | 6.83 | 7.16
71 3] 7835 ;ﬁ”/ﬁ”ﬁ @) . 6.40 | 6.41 | 6.38 | 6.22 | 6.51 | 6.21 | 6.5
8 2| 7639 ig,? fﬁfé(” - 5.81 | 6.07 | 5.86 | 6.05| X |5.93| 6.07
9] 6| Mos|mE RED S 5.11 | 5.66 | 6.00 6.00




ﬂ: PARYY
KRR 1072658 LAF 1 A0
— i B 7 (F &)
TIRGHETABHREE
100m | 400m | 800m | 1500m | ZE =Bk | MRk | = Bek | it [ 400mR | &3t | NANZ
AR i [ 4 4
KA )1 AFAC 6 6
PR 77 6 4 5 15
I B 7 2 — K 0
=3I R 5 5 6 16
[if) 4 Fi 8 8
W RERG = 6 11 6 6 6 35
— &% & T (F &)
TR EA BT BT RAE
100m | 400m | 800m | 1500m | 2= m&iBk | EmEBk | AL [ 400mR | &&F | NEAL
[if] 4 P v 0
SR ARGS = 11 6 17 1
% BT
MEAKRALIE
100m [ 400m [ 800m [ 1500m | &= Bk | AmEBk | fo i [ 400mR | &t | NEAE
B AL 3 2 1 6
7K W] 2 6 8
AREH T ER B 4 7 5 6 5 6 33 1
AREHVE 6 1 5 5 3 2 22 3
Eil& 3 2 8 6 5 24 2
T ERE L 0
RS 8 4 3 4 19
T iRES 0
LA 0
[if] % 1 7 5 13
[if] 45 VA 2 1 4 3 10
[if] 4 P 00 5 5
SR O
TGRS B ZEE ST
100m | 400m | 800m | 1500m | & =Bk | AWEBk | A fufe| 400mR | &5 JIEAL
AR 3 10 6 1 20
> B ALES 2 5 5 12
7K B 4 5 8 17
ARG BE R 1 3 4 3 2 13
ARG TE 5 5 1 4 6 21 3
Ei 6 5 2 16 3 32 1
TRt 0
RS 2 2
TERES 0
B 2 5 7
[if] 458 AR 4 3 6 5 4 22 2
[if] 4% V535 4 6 1 1 12
[i) 45 P 1 0




